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Chapter 1, Solution 1. 
 
(a) q = 6.482x1017

 x [-1.602x10-19
 C] = -0.10384 C 

(b) q = 1. 24x1018
 x [-1.602x10-19

 C] = -0.19865 C
(c) q = 2.46x1019

 x [-1.602x10-19
 C] = -3.941 C

(d) q = 1.628x1020
 x [-1.602x10-19

 C] = -26.08 C
 
Chapter 1, Solution 6. 

(a) At t = 1ms, ===
2

80
dt
dqi  40 A 

(b) At t = 6ms, ==
dt
dqi  0 A 

(c) At t = 10ms, ===
4

80
dt
dqi  –20 A 

 
Chapter 1, Solution 8. 
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Chapter 1, Solution 9. 

(a) C 10=== ∫∫
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0
dt 10idtq  

(b) 
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(c)  C 30=++== ∫ 101010idtq
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Chapter 1, Solution 22. 
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Chapter 1, Solution 24. 
 
W = pt = 40 x24 Wh = 0.96 kWh 
C = 8.5 cents x0.96  = 8.16 cents 
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